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Three, etc. a sample of 3"y — R27 29T YR e TR

OVERVIEW
The Xn> 72 states that 2py™ prix® on7aXR were the (only) three people that Hashem
gave them a taste of 2" in ""My. Our MBI explains why 21X was not included.

nooIn asks:
— (2,50 97) 999D 9N 2N 193 22VUN XY INNAN 0NN )2 PYNRY 139299 10N

The X'"2wn is astounded! Why did not the Xn>72 also mention 31X (as one of

those, which 2"my yn 7"3pn 12°von), for the X stated previously regarding the

P10 of -
— NAN O%Y Py NN 793 VYTPN mMIYONHVY I‘Tbbb 017 HY MY MNHNM)

‘And the donkeys were grazing after them’; this teaches us that 7''apn7 gave
21K a taste of 2"y -

D50 answers:
— NNY 1N XYN 190 N9 29NT 999 v

And one can say; that regarding 31K his taste of 2"y was limited to only one

aspect (277 5y My MNNRM) -
21991 595 NN ©Y 1PN 19N 3PP PNYSY DNIAN)

However 2py» pnx» omm2X derived a sampling of the pleasures of 2"y
completely and totally (they were not limited to merely one aspect).

SUMMARY
21X had a limited sampling of 2"y, while the M1aR sampled it all.

THINKING IT OVER

By the max it says 2" 1Y 1"0wa 191 12°vui; however by 21X it states 191 1107
2"myn pyn (without mentioning 1"mY), it may be possible that 21X received
everything 1"7wa and nothing 2"mv3a;> however the max received in "7 only v
what they will receive 2"mva.

"The p109 (in T X 2PX) states DT> H¥ MW MNNRTM M@NA 17 P27 that as soon as the oxen finished plowing, the
donkeys were able to graze on the fodder which had already grown. This is 2"m¥y 7¥n regarding which it is written
(1,87 7°07) I DTN 07, see Pyn AT R0 0w,

2 Presumably that is the reason we derive from the word '73' that 2" Pyn 12°vui 7"2p7, to indicate that their v
was "72' complete and total.

? See 2"myn 17U ;2,10. See AwWH Y.
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